Equation of a Line

=== é\REVISE THIS
I T

1 The equation of a straight line L isy = 2x -3

(a) Write down the coordinates of the point where L crosses the y-axis.

(b) Write down the gradient of L.

(Total for Question 1 is 2 marks)
2 The equation of a straight line L isy = 8 — 5x

(a) Write down the coordinates of the point where L crosses the y-axis.

(O 8)

’

(b) Write down the gradient of L.

—9

(Total for Question 2 is 2 marks)
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3 The line L is shown on the grid.

(b) Work out the gradient of L.

(c) Use your answers to parts (a) and (b) to write down the equation of the line L.
Give your answer in the formy =mx + ¢

Wox + L

J

(Total for Question 3 is 4 marks)
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4 The line L is shown on the grid.

(a) Write down the coordinates of the point where L crosses the y-axis.

(b) Work out the gradient of L.

\

e

A
O-5

\
(c) Use your answers to parts (a) and (b) to write down the equation of the line L. ( o/ /7/
Give your answer in the formy =mx + ¢

U= 0Sx+ %
N

(Total for Question 4 is 4 marks)
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5 The line L is shown on the grid.

Y A

(a) Write down the coordinates of the point where L crosses the y-axis.

(b) Work out the gradient of L.

L
|

(c) Use your answers to parts (a) and (b) to write down the equation of the line L.
Give your answer in the formy =mx + ¢

Wz —Jx++

\J

(Total for Question 5 is 4 marks)
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6 ThelinesL, and L, are shown on the grid.
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(a) Find and equation for L,

2=73
\

= 3+ &
J

(b) Find and equation for L,

u=-0-Sx - J

-,
(Total for Question 6 is 6 marks)
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7 Thelines L, and L, are shown on the grid.

(a) Find and equation for L,

§ -

\

Y- Y+ S
NJ

(b) Find and equation for L,

"'l

Lo
\

W= -+ b

U

(Total for Question 7 is 6 marks)
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8 ThelinesL, and L, are shown on the grid.

-3
(a) Find and equation for L,
27 — L
\
Y = Lx +4%
(b) Find and equation for L,
o -
\ 4= -X— \
U

(Total for Question 8 is 6 marks)
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9  (a) Write down the coordinates of the y-intercept of the line 2y = 5x + 6 3 -t Q S + 3

O

(b) Write down the gradient of the line 2y = 5x + 6

L-S

XY

(c) Is the point (2, 8) on the line 2y =5x + 6 ?
You must show your working.

Wx € =\b Me s

Sx2+ b= lb o

(Total for Question 9 is 4 marks)

10 (a) Write down the coordinates of the y-intercept of the line y — 3x = 10 3 = | O + 3 s

(b) Write down the gradient of the liney — 3x = 10

xY
(c) Is the point (2, 8) on the liney —3x =10 ?
You must show your working.

-) -IxYy = -2 =12

- =% ok 1O

O
=

(Total for Question 10 is 4 marks)
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11 The graph below shows the amount of money saved by a student.

Money
Saved, £S

v

G 1 1 1 1 1 1 1

Number of weeks, n

Work out a formula for S in terms of n.

10=5
L

S:=5n+ 15

(Total for Question 11 is 3 marks)
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12 The graph below shows the amount of money saved by a student.

1000+
900
8004
700+

600+

Volume of 500-
Liquid V ml

4001

3007

2004

1004

0 1 1 1 1 1

T
0 1 2 3 4 5 6

Time, t (seconds)

Work out a formula for V in terms of t.

- 500 = -)90
g

\/ = -|SOt +(000

(Total for Question 12 is 3 marks)
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13 Work out the gradient of the straight line through (2, 8) and (5, 20)

20-% - 2= &
S-2 3

(U

(Total for Question 13 is 2 marks)
'Il ﬂl \x'l. 37_
14 Work out the gradient of the straight line through (2, 10) and (6, 8)

g-(0 - -z = - L
6-2 ¢ &

-0-S

(Total for Question 14 is 2 marks)
15 A straight line

has gradient 4

and x Y
passes through the point (3, 10)

Work out the equation of the line.
Give your answer inthe form y=mx +c¢

\6:(4,3(,—\— C

0= Gx3 +C
O = 12 +C

y=bax -2

(Total for Question 15 is 3 marks)
11

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

I’ y r@ @1stclassmaths

16 A straightline

has gradient -2
and

passes through the point (10, -17)

Work out the equation of the line.
Give your answer inthe form y=mx+c

tj:—ZJ.AfC

-13=-2%10 ¥ C
-\}= - L0 +C
C= &

\{:’230-\'3)

|9 : .
(Total for Question 16 is 3 marks)
17 A straight line

has gradient 0.5
and

passes through the point (8, -3)

Work out the equation of the line.
Give your answer in the form y=mx +c¢

| )
~
\ i1
:O
4+ N
O XX
v &
...\_
o

Y= O-SI,-;L

(Total fleQuestion 17 is 3 marks)
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18 Work out the equation of the straight line through (3, 5) and (6, 11)

XY, Y2

- = = U: 2)(,"’6
6-3 ¢

S = Ax 3+C
= b+ C
C=-]

Y= 1x -\

(Total for Questlon 18 is 4 marks)
19 Work out the equation of the straight line through (-4, 2) and (2, 5)

XY Y
S-2 :_};} \:):0~Sx,+c
2 --4 © & S=0-Sx2+C
| +C
C=U
W= 0-Sx r "\‘
(Total for Question 19 is 4 marks)
20 Work out the equation of the straight line through (3, 16) and (8, 1)
XY X2
\___l_@ _\_ = -3 U = —-3x +C
-3 S |16 = —3x3 +C
16 =-41+ C
C= 25

4= -3x +13

(Total foF Question 20 is 4 marks)
13
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